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Least-squares estimates for the two-way ANOVA model

Factor effects model equation:

wii = p. +a; + B+ (af); - Mige
wwmmﬁ-mcrcmam estimates of ; are the cell means Nﬂu fitted values are
Y;x = Y., and residuals are e;; = Yy — Yy = Yy — Y.
Estimates of the model equation parameters:
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Explain why the cell means are the least-squares estimates, and
the factor-effects estimates are these. |
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Recall the Cern L dala (pe 1UF)
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Example: Corn Yield n = 5 plots per “cell” (A “cell” is a particular
combination of the levels of the two factors, e.g. “low, low” means “low
fertilizer” and “low manure”). The summary statistics are given in the two

tables below.
Cell Means

Fertilizer
Manure Low High
Low 11.3 139
High 14.0 151

Cell SDs
Fertilizer
Manure Low High
Low 1.9 1.7

High 1.8 1.3
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